[ Efficiency vs vertpos |
0.8

07 S A—

SR AT Y S S

efficiency vs vert r

T LA S e e

|11 — —

0.3 LB AT g S

0.2

0.1

Ratio

ULEE PR RRRRE RRRRE LRI

10 0?
TP vertr (cr%)

—=— DQM_V000L_R000000001__Global__mkFit_baseline
Efficiend —— pom_v0001_R000000001__Global__mkFit_var

~ 0.5
20.45
n

> 04
>

2
$0.35
0.3

0.25]
0.2

0.15

ettici

I 0
ik

0.05F - ¢ 1t
O?""!*++'".

Ratio

15fF-----

| A

-30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05

P
o
S
]

o
N
[¢)]
UL LR LR LR AR RRRRN LRR RN RS RLRLY LRL

0.3

etficiency vs Sim.

Ratio
P
R

iy
TITT[TTT I TITT[TTTT

50 =15 -10 -5

N

Sim. PV z (cm)



	Contents
	Page 1


